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Introduction
In this contribution, we analyze the necessity of different BIs for different UEs in NR and provide a simple solution for UEs priority treatment.
Discussion
The Backoff Indicator field identifies the overload condition in the cell. UE sets the backoff parameter value as indicated by the BI field of the Backoff Indicator subheader and delays following RACH attempt by the backoff time deduced by backoff parameter upon failure of the random access attempt.
Referring to [1], some mission critical use cases need priority treatment. The typical example is MPS as extracted below.
	Table 5.1.2.3.1: Example mission critical use cases
	Sample use case
	Description
	Critical requirements

	…
	…
	…

	Multimedia Priority Service (MPS)
	Priority communications to authorized national security and emergency preparedness (NS/EP) users in times of disasters and emergency. Authorized NS/EP users have to rely on public network services when the communication capability of the serving network may be impaired, for example due to congestion or partial network infrastructure outages, perhaps due to a direct or indirect result of the emergency situation and therefore needs preferential handling and priority access to communication resources.
	MPS requires preferential handling, and priority treatment.



The 3GPP system shall be able to provide UE with prioritized access for transport of data for critical service (e.g., data for healthcare).



Observation: Priority access is needed for specific services but the number of such services is small in the network.
UEs with service of prioritized access need fast access to the network. Then the backoff time should be different to other UEs. However, the BI is broadcasted to many UEs which can decode it, and the gNB can’t send BI to a specific UE accurately.  
Some options are listed as below:
Option 1: gNB informs one BI in Msg2, but the UEs with fast access requirement set the backoff parameter value to 0 and retry RACH immediately.
Option 2: gNB informs one BI in Msg2, and the same BI means different values for different UEs with different access priorities.
Option 3: gNB identifies access priority via PRACH/preamble partition, and inform multiple BIs in Msg2 for different UEs.
In all options, different UEs get different BIs. Note that with any option, the RACH overload balance is hard to be guaranteed, i.e., Msg1s can’t be distributed uniformly in the time domain. Some algorithm for RACH overload may be needed.
Considering the number of UEs with service of prioritized access should be small, the option 1 is simple and easy to be implemented. Then we prefer the option 1.
[bookmark: OLE_LINK78][bookmark: OLE_LINK79]Proposal: The UEs with service of prioritized access could ignore the BI in Msg2 and retry RACH immediately, and other UEs should apply the BI.
Conclusion
In this contribution, we discuss BI in NR and give proposal that:
Proposal: The UEs with service of prioritized access could ignore the BI in Msg2 and retry RACH immediately, and other UEs should apply the BI.
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